
Cylindrical brush head 1080 (97141261)  -> 81-60-1993 akt-Stand

This print may include data out of date! For current spare part catalogue please visitwww.hako.com

Page 1 of 2



Cylindrical brush head 1080 (97141261)  -> 81-60-1993 akt-Stand

Pos. Part-No. Material-No. Description Measurement DIN/ISO
Serial No.
begin

Serial No. end valid from valid until Remarks Qty.
U
i

1 97155840 Cylindrical brush head 1080
Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

2 97153696 Lifting cylindrical brush head
Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

3 00053010 11038072 Hex.bolt M6x16-8.8 A2G DIN 933 1 P

4 00740280 12520011 Washer SKS-6-dacrometisiert 1 P

5 01376720 96162912 bolt 1 P

6 97158372 Release spring
Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

7 00120940 11032117 Hex.bolt M12x160-8.8 A3G DIN 931 2 P

8 00051490 12040077 Hex. Nut M12-6 A3G DIN 985 2 P

9 03022590 96158456 rocker lower 1 P

10 00879630 13328422 Bolt B12h11x85-St A3G DIN 1444 2 P

11 00200170 25842055 PVC hose 13x3,5 transp. mit Gew. 0,050 M

12 00744820 13851043 Cotter pin 3,2 A2G DIN 11024 2 P

13 00053310 11038346 Hexagon screw M10x25 8.8 A3G DIN 933 6 P

14 00740290 12520061 Detent edged washer SKM-10 6 P

15 00053350 12022059 Hex. Nut M8-8 A2G DIN 934 4 P

16 00740310 12520029 Washer SKS-8-dacrometisiert 6 P

17 00053090 11038213 Hexagon screw M8x20-8.8 A2G DIN 933 2 P

18 00109720 11702032 Screw M8x20-St Duo-Taptite
DIN
7500-D

2 P

19 00695300 12326021 Washer 8,4-St A3G DIN 7349 2 P

20 01111790 11039591 Hexagon screw M14x60-8.8 A3G DIN 933 2 P

21 01495650 12330031 Washer 15-350HV-flznnc480h DIN 6340 4 P

22 01499130 14898134 starting disc 2 P

23 01376470 92034487 bushing 1 P

24 01102650 12040341 Hex. Nut M 14 10 A3G DIN 985 2 P

25 01375320 92003011 buffer 2 P

26 01376550 92053289 bushing 1 P

27 01476570 17526252 retainer Ø20 1 P

28 01370240 17526237 mounting feet 1 P

29 00904080 15590425 Drain plug F19 SW 2 P

This print may include data out of date! For current spare part catalogue please visitwww.hako.com

Page 2 of 2


